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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Sgus+H i - HXgE 2 260,000 450,000 190,000
= 120,000
== 60,000
Al 80,000
405 KHakE SH 260,000 450,000 190,000
= 120,000
=S 60,000
Al 80,000
01 TR =S FISHI 260,000 450,000 190,000
OSEusS=tt Of - HIXte 260,000
= 120,000
= 60,000
Al 80,000
Hsus 2483 =0 18,000 18,000 0
203 =4l 18,000 18,000
03 A=A 2= 18,000 18,000
olisus 243 =4 18,000
HAUTSXEDOIE ZHIALY 139,042 67,485 71,557
= 60,831
Al 78,211
402 QI2F X201 & 139,042 67,485 71,557
= 60,831
Al 78,211
02 QI X2 AL E R (01X THE) 139,042 67,485 71,557
OAAHAEHDIE 95,511
=S 41,786
Al 53,725
O1EBAHDIE 43,531
< 19,045
Al 24,486
H=SAAL HEALE =8 2,094,000 0 2,094,000
308 AHXIEMSOIE 2,094,000 0 2,094,000
1 SIS0t EAS A 2,094,000 0 2,094,000
OBFHAL HEALY =& 2,094,000
S e 2 2 58,000 58,000
401 AlZHIZ SO 58,000 58,000
01 A28l 58,000 58,000
Osdd A4 & 2l 58,000
BAN23 Hes=3 K2A 1,504,008 1,458,324 45,684
& 341,820
Al 1,162,188
307 glztol & 1,504,008 1,458,324 45,684
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< 341,820
Al 1,162,188
09 2+ AE2LES 1,504,008 1,458,324 45,684
OHARS HerE XA 1,504,008
= 341,820
Al 1,162,188
BAR3 H=Sha N2 AY 250,668 254,628 23,960
=S 75,200
Al 175,468
307 @12t0| & 250,668 254,628 A3,960
< 75,200
Al 175,468
QO 2=HHEXS 250,668 254,628 23,960
OHAIRS HESHE XIJAY 250,668
= 75,200
Al 175,468
BA2Y F222AAE FX2t 51,000 51,000
308 AHXIEMSOIE 51,000 51,000
1 SIS0t EAS A 51,000 51,000
OHAI2d H22CIAIAE S22 51,000
EAIZX XA 1,320,000 1,170,000 150,000
= 234,000
Al 1,086,000
307 212+01& 1,320,000 1,170,000 150,000
= 234,000
Al 1,086,000
09 2+ AE2LES 1,320,000 1,170,000 150,000
OHAIZ X XA 1,320,000
= 234,000
Al 1,086,000
Al C20tg f3a 29 3,200 8,000 24,800
201 fer= 3| 3,200 8,000 4,800
01 AtR2tc|HI 3,200 8,000 4,800
OfAl T=0te ?d= 29 3,200
Al 2ZEHAl 2S AL 12,000 12,000 0
201 2= 10,000 10,000
01 At2t2lt] 10,000 10,000
O&FAl 2AZEA 2SAL 10,000
301 EtE NS 2,000 2,000
14 IIEt2 83 2,000 2,000
O&FAl 2AZEA 2SAL 2,000
SAl YIS e XA 717,580 0 717,580
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OXN&EH 0IEAIE EHI 1,200,000
03 AIZ2THYI 3,000 3,000 0
OXN&EH 0ISAIE EHI 3,000
SHUZE HEA=Z e 2,000,000 2,500,000 500,000
401 AlZHIZ SO 2,000,000 2,500,000 500,000
01 A28l 1,996,000 2,500,000 504,000
ORMUZ NEAN =2 JHE 1,996,000
03 A& CHYI 4,000 0 4,000
Oo%NizE MNEH =2 HL 4,000
WSAK SENSH 29 1,885,097 1,681,077 204,020
Il 1,538,777
Al 346,320
ANgaelss d&s 1,885,097 1,681,077 204,020
7l 1,538,777
Al 346,320
A2 SH MES 1,885,097 1,681,077 204,020
Jl 1,538,777
Al 346,320
309 HE=S 1,875,097 1,677,077 198,020
Jl 1,528,777
Al 346,320
01 SAt- SHEYNES 1,875,097 1,677,077 198,020
OuSH SEusS+H 24 1,091,715
) 1,091,715
OusSAHI SEuSH 2 2% 778,320
Jl 432,000
Al 346,320
ogE, X HMUE S £ 5,062
Il 5,062
404 SAISEHIEEES 10,000 4,000 6,000
Jl 10,000
01 SAt- SHAZ2TES 10,000 4,000 6,000
OusSfi SEusSst 23 10,000
Il 10,000
WEHE Al& 2t 3,386,000 1,536,000 1,850,000
= 1,500,000
Al 1,886,000
wSoHM Ald 22| 3,386,000 1,536,000 1,850,000
= 1,500,000
Al 1,886,000
WSHEBHE 2S X 168,000 168,000
405 AtatE=H 168,000 168,000 0
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401 AlZHIZ SO 500,000 500,000
01 AlZ28| 500,000 500,000
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AZIEOC SelsI| & 20,000 20,000 0
401 Al HIZL S 0HYI 20,000 20,000
01 Al&H| 20,000 20,000
OAIZH0H! SelzI| EX 20,000
L2 ISSSAEE OV WA 48,000 48,000 0
401 AlEHIZ 2 0HbI 48,000 48,000
01 Al&H| 48,000 48,000
Ok= WSSEZHEE IV A 48,000
NSERSHA(ITS) 2FA 500,000 500,000 0
= 300,000
Al 200,000
401 AIEHIZ SR 0HYI 500,000 500,000 0
= 300,000
Al 200,000
01 Al&H| 500,000 500,000 0
OXSEWSHAH(ITS) F=A 500,000
= 300,000
Al 200,000
NSEDSHA(ITS) FEAL (4xH) 2,000,000 0 2,000,000
= 1,200,000
Al 800,000
401 Al HIZ R 0HbI 2,000,000 0 2,000,000
= 1,200,000
Al 800,000
01 Al&HI 2,000,000 0 2,000,000
OXISEUSHIA(ITS) PSAH (4%) 2,000,000
= 1,200,000
Al 800,000
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